
Az adott egyenletb®l a törteket eltávolítva:

(1) cos4 α sin2 x+ sin4 α cos2 x = sin2 x cos2 x.

sin2 x = 1− cos2 x helyettesítésével

(2) cos4 α
(

1− cos2 x
)

+ sin4 α cos2 x =
(

1− cos2 x
)

cos2 x,

ill.

(3) cos4 x−
(

1 + cos4 α− sin4 α
)

cos2 x+ cos4 α = 0.

Azonban:

cos4 α− sin4 α =
(

cos2 α+ sin2 α
) (

cos2 α− sin2 α
)

= 2 cos2 α− 1.

Ezt (3)-ba helyettesítve:

(4) cos4 x− 2 cos2 α cos2 x+ cos4 α = 0 azaz

(

cos2 x− cos2 α
)2

= 0

és így

(5) cos2 x = cos2 α.

Ekkor azonban:

(6) sin2 x = sin2 α, tehát tg2x = tg2α.

(6) alapján:

tgx = tg(±α) és x = ±α+ kπ,

ahol k bármely poz. vagy neg. egész szám, vagy 0.
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